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Uifley - o / SECTION -'A

ey : 1) Soardg allomsseEnsebalol weflésan.
ii) sflurer eleoLows CaibOsbhss TWas.
Note : i) Answer all the questions.

ii) Choose and.write the co?‘rect answer.
@|G'ue_‘51 '@ng D&THSSTETHST SHTEoTILHD &HDUD
<) OererCeré) : 21) -mne\;@mé}
g) Buled | F)  SCUCUA.
Epipetalous stamens are present in the family
a) Solanaceae : ' b) Malvaceae

c) Musaceae ' : d): Fabapeae.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

30x1=30
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2.

Ldf@&&&.rrmrr@e{) Crremw @eroiuBsll LwesTURID STeurid

&)  ooUileeuThgGev omyev

<) oL Cymosur smedlisle>Gumredlur

@) o%fj?sbsv;rgégsﬁ) enib a0l &m |

F) L Crmeour Grisev.

The plant used to treat jaundice is

.a) Phyllanthus amarus

b) Jatropha gossypg‘fblig

¢) | Phyllanthus embuc&‘

d) Jatropha curcus.

STOUTSHSEST HTHIE P TETLIEDGL

S  UMFeSTeDaIDm : )
@) yGemmuid . s ")
The supporting cellsof the plants are

a) parenchyma b)

c) phloem dl & ' d)

& 6ulD

BIT&er.

xylem

ﬁbres.

WETHS . FONDLSEGSYPTL  danseile, s s Haefleo

L HED QUTHeT

2 _6lem  GIEDEN&en 6N

»

| <) Guflen | j ) GaGemen
Q) G‘I&s'\)gu@eurr_s'ru : : #} QlL&ig 657.
The substance which blocks the pores in the sieve plate of mature sieve element
is e, |
a) suberin b) callose
c) ceilulose ' ' d) ~ pectin.
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evieslledt Qeusfllilm 2H&E
<) 265Csme : ' %) Quflens &dlei
@) ynsGsre | F) UnsGsress Come.
The outermost layer of the stele is |
a) endodermis b). ' pericycle

c¢) epidermis d) hypodermis.

geoyGeml) @eeurn GO IuESDg)

<) 2n+1 : =) 2n + 2

@) 2n-1 F) 2n-2
Trisomy is represented by

a-} 2n + 1 : b) 2n+2_.

c) “2n=1 : . d _ 2n-2.

o meien sreuy Qedvededmbal Wp grr‘cur;rgemg; 2 (HOUT&HGD Smedt
<) LTHIUTH AL SH6V |

3}) 2 DUILSHETTHSD

Q) umé%@wmé&ﬁ

) @@r&,gﬂg};&r GubmeTereLn.

The inher'ent potential of any living plant cell to _develop into entire organism is
a) - ;lifferentiation

b) organogenesis

~¢) morphogenesis

d) totipotency.

[ Bys / Turn over
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8. Gpmi erdlity Hpesr Qubp @TéHs CeusTeamenugisasr ( WBC ) QUESHSHSH®S ST HID

Qummel
@{) @G&'{L__I"FOOGQUUWGEST %) @m&a‘ﬂ@
@) @ etrireblyédled _ F) Opefler sRUUTET&E.

The product which stimulates the prolifel:ation of WBC, that takes ‘part in

immunity is
a) Interferon b) Insulin
c) Interleukin d) Renin inhibitors.

9. Qe yGrmiCLrlletmen@sE@sédlaL G @emem:rrémsu 2 GO THGD @) eernreyd

T 600N
@) ure) r&Caet Slenanésme |
<) urell erggledlesr Heversamds
@) urelalemerer GCetmenyQ®
F)  umevurfé #gegw.
The two protoplasts ar-e fused with a fusogenic agent which is
a) polyethar;e glycol b) polyehtylene glycol
c) pelyvinyl ch.loride : 55 ' d) phosphoric etilene.
10. @ Qprdllles 2 sirer .ql;.rﬁuu@@u Qurmefles Guwi
9 HUuBurr ereiTen &b | 2) Gl (& SHTyeoons el
Q) @Qeew QBT At ") @e&'r'g’)]ms&)wmrrg_, UGS).
_The protein component of a holoenzyme is
a) apoenzyme | b) co-factofs

c) coenzyme d) prosthetic group.
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14.
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Qeowsgoe whHams STET(als)

3 usdlen : @) Pougelen

Q) G@&LLCSl_rrsmaassﬂeéT F)  <odds 2ubeub.
ClosureI of stomata is caused by

a) Auxin : b) Gibberellins

c) Cytokinin d) Abscisic acid.

sefl LD @BLere JemalHCapu YD sTauysear L Clews allaenay

9 G ugeTd . <) el seured

@) geNsareoggeld ) epoflsGaitées.

The response of a plant to relative length of light anddark period is

a) vernalization _ | b) ‘photorespiration

c¢) photoperiodism d) "¢ photosynthesis.
BlevssLmaule 4&aTChreaw 2 maurseb Gpriydf

o)  OlaiCamevCumym GluieCeori i m =) gnGrr oaiyev

@) ewufleGevflur @eaap‘@&. ") &ﬁﬁ@gnGmﬁmﬁdv Sl
Which pathogen causes Tikka diseases of groundnut 2

a) Cercospora pefso;iata | i S Tungro virus

c)  Pyricularia oryzae d) Xanthomonas citri.
Qosu Curl HEsmessTar LEGHS)

) _é]a'sr@&réj | <) erooll et

@) yoreededr 7)  @elleoere.

....... .eeeeeenee.. 1S USed to treat heart diseases.

a) Ginseng b) | Ephedrine '

c) Digoxin AL d) Quinine.

[ d®Uys / Turn over
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15.

16.

b7t

18.

LbpCRT oW Gaiu@SgId QurGeisamer Cleresi Ty

3i)  OluestmevLosLilenmesTL T Lﬂ@gé?wﬁéorrr @) Gagyraisev Grméluev
@) sevsev Lf;m’@rf?wsﬁ?ﬁm F) Gameur pllgm.

The plant which possesses anticanceroué properties’is

a) Pentadiplandra brazzeana b) Catharanthus roseus

¢) llex paraguriensis d) Cola nitida.

2 OF  eumqypb %@@Gﬁne'm@ur‘rin&eﬂéu' Neeyd  eefiu,  BHpD GG eTenwTeDT

BITEUNHIGEN 6T ©)&TE3oTL_cmeu

@) i Gevreveny . <) GrrGecuen

@) ye Qg &aGoucveny i F) 1bmevGeucuey.

The most primitive living angiosperm members are

a) Ranales | . { : 5} Rosales

c) Unisexuales ' d) Malvales.
‘Apdlesriisefer Cambmid’ eeih Hiene GleusTli Lo

o) &C8ymevev edlett Ceoritieny J '..33,.) gmieveny Lmirallest

Q) .&I_I'I'G‘\Jlli eTrReMT F) Gupsd LHNID QUO&HST.

‘Origin of Species*is published by

a) Cardlus Linnaeus b) .Charie_s Darwin

c) Adolf Engler d) Bentham and Hooker.

S0 srauysdler Cuilars Qeréed, Apderé Qarognd Gy wréflurs @Glus)
S CPe 2 QITHTeUT Lbné\rﬂ <) ffur Quut &®HSSD

Q) LﬁL(BLﬁso‘ﬂfD ' 7) ufl@srgeme cuemsLILITLIG W6
The generic and specific epithets are same for a plant. It is called

a) Type specimen b) Author citation

c)  Tautonym ‘ d) Biosystematics.
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&péeevorL %r;isg;rrsugg‘sé\e’u @ ®Ha urenl priser QupiL@Eng
©)  srellub LmiLG)l e |
<) eanlleveev eln_mflum
Q) 2y evdhur G‘;rr.rﬁwrr
F) eapUlavseav Clseerriiere.
The plant which_ yields bast fibres is
a) _ Gossypium barbade'nse

b) Hibiscus sabdorifa

c) Althea rosea

d) Hibsicus canabinus.

soGuBLS BHDLS BreursdleT safl

2) @Iur'rrﬂ _ o) Lepll

Q) QouD Geaugse FF.) CafGumiidlev.
The fruit of thé members of IFabaéeae is

a) Berry [ b.} Di‘upe

c) Legume < ; . - d) Caryopsis.

BooTg 651 @FeSoTimid Hleves auenté Slllet GuTg) 2 BAUTSSUILED LTHSTIL SHHES

:.g;{) LUn&Esmev ‘ o8 mUG&WQLﬁL&du

Q) QuilGLib _ ' F) ymeool.

The protective layer developed during the secondary growth of the stem is

‘a) epidermis ' . b) rhizodermis

c) periderm -d) cortex.

[ mlye / Turn over
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22. sl u Qeuliu mrr@g.gné.@ ghu Gemersel &HeTeusDED BeTeushGD 2 saib ©gevael
S) T LTS _ : <) Helssr Glssel |
Q) : Qevev @651_1.@99& s F)  Levedlooumiinolgevsei.

The cells which are helpful for the rolling and unrdlling of the leaf according to
the weather change are

a) border parenchyma ~b) silica cells
c) fneéophyll tissues d) bulliform cells.
23. Uyss Cersmeamus CBTLES @aSED (PSS SOyl gjcué@m shG&sb
o) UAA . el een
SRS e TR - ) AUG.
The initial or starting codon during protein synthesis is
a) UAA :  A\Ga
c) UGA . : o I AUG.
24. ‘@6 g e® Oprdl Camiur o QeuefllL L eurrgeir
2)). GuL_& 61 DHDID LjeTeTL & -
@) eureGLwi whmid LI gen |
@) Ugeé wpmid Lrlb
%) eunt s WDl AN,
‘One gene one énzyme' hypothesis is proposed by
a) Bafcson and Punnet '
b) Wa_ldeyer and Bridges
¢) D Nile and Tatum
d) Watson and Crick.

25. ansafien Glawdur’ @ 2eE oLy

<) L&QLLl'_rrs&r _ 9y) Sevlymes

Q) Q& &mesr . w) LﬂuLLngmaaSﬁ.
The functional unit of Gene is ' '

a) Muton " b) Cistron

.¢) Recon d) Mutagené.
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26. LémswHHS 2 HusHHEG Coeeuiu@D WeHWH CuTGeT

<) Mg | ) F..e

CY R ¥) Mn.

The csscﬁtial component for the forlmation of chlorophyll is

a) Mg ' b) Fe

el @l -' ' d) Mn. : ;
27, dereumeusstauphpiel 10l @evoTeno HTeUD 6rg) ?

) qagm@i-'_l_rr | _ 4 =4) ;nrr'@emm;@'r;rrgrr
@) LCyrendSym - ) - B)  alleéusid.
Which of the follong is a Sapfophyte ?

a) Cuscuta ' b)._/ Monotropa
¢) Drosera d) Viscum. .
28. SHIHN &euTe Hgledr @5,6\) Hlevey
o) Hyuev spHdl
=) Gnidl S salleCeoidnb
Q) Hevenéareadla
) GG)LJ@GSE'B oo oy &efleGebp s Bée alleveo.
The first step in aerobic respiration is
a) Krebs cycle
b) Terminal oxidation

el Glycolysis

d) : Oxidative decarboxylation of pyruvic acid.

[A] ' : o [ Hl®riys / Turn over
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29.

30.

Flooeanssraandlflar o GOWLTSHs swauT® |

S) CgH,30q + 60, — 6CO, + 6HRO + 2900 kJ sypmés
24) Colly,04 —+ 2CH,CH,OH + 2CO, + %m&

@) CeH,,04 + 2NAD + 20, = 2C4H1,0; + 2NADI, + 20,

#) CgH;90g + 2ADP + 2Pi + 2NAD* % 2C3H,0, 4 2ATP + 2NADH, .

- 2ATP 2
The overall reaction of Glycolysis is

al CgHip05 + 662 — 6CO, +6H,0 + Izgoo K energy

b) CgH ;204 — 2CIH3CH20H +2COy 4 en-ergy

c)  CgH;,0g + 2NAD + 20, ,— 2€,H,0, +_2NADH2 +20,

d)' CgH,2Og + 2ADP + 2Pi'% 2NAD" 2C3H,05 + 2ATP + 2NADH, .

2ATP  2ADP
seflsGersmailan CGunrg sy salsme QeueliiL@euas Blenéeb EInY

9|) Gaed cg,‘;._;,u'.nsq ; _ 2y) Coemhdles seumsme

Q) AlesEpTl HDID LeTe Sy iiey #) Coeamhdlar seflgdley oyley.

The experiment used to demonstrate that oxygen is evolved during -

photosynthesls is

a) Kuhne's experiment b) Ganong's respiroscope

.€) Test tube funnel experiment d) Ganong's light screen experiment.


www.studyguideindia.com

31.

33.

34.

35.

36.

37

38.

39.

11 =2 7746
Jifley - o4 / SECTION - B
eoliy :  aoaGuaib uflomabg alamésEnse el wsiéaayb.

Note : Answer any fifteen questions. 15x 3 =45

QB sTe QuuflGepeop eresTpTE 6 6bTeDT 2
What is Binomial nomenclature ?
QUBBD LHPID OGS CUDSHLILTL Q6T Gonsaer gCsEID APTHIET 6T

Bring out any three demerits of Bentham and Hooker's classification of'plants.

Qrealsdoe sran Caimpseh gralsdome sroau Caums@ble_Gu 2-sier gCoHeb

EPESTI) 2 6iT6memLDLiL] (Ssu@urr@aasmm TG!S

Write any three differences between anétomy of dicetireots and monocot roots.
ugwrssh ( Transcription ) eresipmey erediest ?-

What is transcription ?

é@so‘rrrfo : eUETW).

Define Genome.

g_eomﬁ"_ g,em.l_ RNA ( Antisense RNA ) Greérggrre\) eTEdIET 7

What is’Antisense RNA:?

LGy GLr Verire. @) eriay (pemulles LIWETUTHSHEET 6T(DSI5 .
Write the practical_applications of protoplasi’nic fusion.
65 GpTdlser (Isoenzymes ) 6r@IDITE eTedTenT 2

What are isoenzymes ? |

sueoTwLn) : SHLTLH euaeney.

Define Sigmoid curve.

[ Hwiys / Turn over
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40. ATP-Wlett SyenwliennL eT(psis.
| Write the structure of ATP.
41. pifle @aﬂuﬁsﬂg@s\) ETEBTDITGY ETEdTET ?
 What is photolysis of water ?
42. CSur:;er_rré,siv seeu ubD Fn @OILY euors.
. Write a short note on Bordeaux mixture.
43. @Wleere - GHILGILLES .
Write a note on Quinine.
44. ouettiemISHEILILEE) el @16’06\9@[_'_1_50 STEBIMTEL 6T 6B16TT ?
What is papilionaéeous corolla ? |
45. GN&ECaHDEI ST (WSHUEBIMGHDS @gsw_ﬂ@a,.
What are the significances of-crossing over ?
46. cueoTwpl : 2 &edleCeotpn urra’uur?&:qcomb.‘
Define oxidative phosphorylation.
47. @6 uBeTSSlest Lilict el @)76TTY HEDT 6T(LpEIE-
Write any,two advantages of vernalization. -
48. eefléaeaursn lD.ijJ@jL‘D @@L'__&rmrr;qfn CaunuP&aes .
Distinguish between photorespiration and dark respiration.
49. &oeurs Fe) ETESIMITEL 6T6dTenT 7
What is respiratory quotieht 7
50. Glereurerd enpsrsdler DHSgIa LLSTS@ET 6 (1p&is.

Write the medicinal uses of Solanum nigrum.
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52.

53.

54.

55.

56.

57

58.

13 . 7746

9ifley - @ / SECTION - C

ey : 1) egoatuaid g Semsaapée oL s®BS.  Sjeubmer
- eleir e Bl i &L LTwoms el yefiée Geussor(ib.

i) GCaeeuwrer @ msefléd uLb LS.
Note : i) Answer any seven questions includi-ng'guestion No. 81 which is
compulsory.
ii) Draw diagrams wherever necessary. )£ " 7x5=235

QantCuilugdler wedussiasos awes. (gEsaub BbsI )

Write any five importances of herbarium.

wréGaud) GRDU Braurhsefe QUTBeTTETT WéH&wuHaa s aleurfl.

Give a detailed account on economic importance of malvaceae.
@ouilsdler oiumL ey HUsGsHassmen aumsiil0ss allouflss.

Explain the different types of meristems based on their positions.

Qe LweT HED CeeTTamowUTOE BuUbmssE edels LTEIYD ghUGSSTS

G LY afleusm (WPeD - & HSHHDTE TDEIS -
"Sustainable agriculture is.an eco-friendly farmiﬁg system.” Discuss.

24,6507 (H) UG bl GOILY 6T(W&s.

- Write short notes 6n annual rings.

Qrasdoa ey @aeawlles ULD ahs LTEESEET GDISSaD. -
Draw and label the parts of T. S. of a Dicot leaf.

wryé snlessdldr SpulludLseer apsgs. ( gEasib ehg) )

Write any five characteristics of genetic code.

urediesst GCrmCurCsmd Sy@bliou LLD aUThs UT&HhS 6T GDI&HsHaD.

 Draw and label the structure of polytene chromosomes.

[ glpLiys / Turn over
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59.

60.

61.

62. .

63.

64.

65.

sreuy Sla eueniillesr gGeeIb bhs LWETEH T TSI .

Write any five _éppljcations of plant tissue culture.

@& CLremaeafler eurpalue alwerajsamer GHLAGS.

Wri{e Ilhe physiological effects of cytokinins.

Caermhdlet aeuranrell e alarées.

Explain Ganong’s respiroscope experiment.

DNA vpiGeiréens Glgmiflemi LT mbal Hlehasamen eiiygs.
Write the five ;:vents of recombinant DNA technology"

Nfley - # / SECTIONZ,D

Goly = 1) aoeauGueid Brerg alaméserée aloL sms.

i) Coemeuwrest @)Lk sfled LD euemys.

Note : i) Answer any four questions.

ii) Draw diagrams'wherever néccssary. : 4 x 10 =40

QuBEHD LHNID ATOEET BIeUT EUMSUILTL G | O L aevernt oees eleréshd |

aleul.

Discuss the outline of Bentham and Hooker's classification of plants. ( Outline

flow chart or expianation )
g eogLrsen LSIT@hUaTe STauf&eans seameslgThaerme allaifl.
Describe Tridax procumbens in botanical terms.

Qoalsdoas srar sEgbeD, G alsdoand sral sagheb G Cu 2 drer

2 efreremwifiué CaumurGsen epss.

Write the anatomical differences between dicot stem and monocot stem.
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67.

68.

69.

70.

(A]
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DNA-afles1 jemtienu aleuflés.
Describe the structure of DNA.

salQae Ursh EHHu 2 aoars  ghnsGlaTeTer  D&SET  HURIGEUSDHETE

&ITT] GO0ThIE EMEN 6T (LIS .
People hesitate to use SCP as a major food source. Give reasons.
s Ceaismalas @ e alomarsmen alleufl. ( &pHél LLD Syevevg alleTésid )

Write an account of Dark-reactions of phoﬁbsynthesis. ( Cycle flow ehart or

explanation )

Qprélast Gewarbnid elsdos eSleréid (Saam;urr@aseme;r aNené@ .

Explain the theories on enzyme action. |

i) @‘ééaé:]sﬁr QuUIT®eTTSITTy @&@mgygjmgmg (L85 .

i) HessL el QUITGETTSHIT] UI:L.IGET!E)GG}G‘IT uHm & @m&HLTe G‘Ig)n@g;@g@gj&;.
i) Write i:he economic importance of'teak. ‘

i) Bring out the economic impértance of groundnut.
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